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Attempt all three questions. Each question is divided amc jig 5

parts' (a), (b), (¢), (d) and (e). Part (a) is compulsory and

attempt any three parts from (b), (), (d) and (e).
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(a)

(2) ‘ 6304

(Compulsory) Choose the correct answer and give briefs

reason(s) for your choice :

r

) In an open economy : P
(A) national savings are always equal to domes-

tic investment

(B) national savings equals domestic investment

plus the current account balance

(C)  national savings equals domestic investment

plus exports of the economy

(D) national savings equals domestic investment

-

plus statistical discrepancy.

(N}

(i) - The real interest rate is :
(A) interest rate given by a commercial bank

.

(B) nominal interest rate minus inflation rate
(C) nominal interest rate plus inflation rate

(D) none of the above

e —n
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What is inflation rate ? If GDP déﬂator rises from 100

in year one tq 107 in year two and 115 in yeér three, what -

will 'b§: the inflation rate between year one and two and

between year two and three.

If the nominal interest rate is 9% per annum during all

13

these years, what will be the real rate of interest between

year 1 and 2 and between year 2 and 3. . -

What do you mean by Balance of Payments Accounts ?
What is the fundamental balance of payments identity ?

Explain with exarﬁples. - 4 o 7

What do the. unemployment rate and the inflation rate

-

measure ? Why do economists care about unemployment

~ and inflation ? , 7

If there were three goods 1, 2 and 3 and p- stands- for

price, and g for output, then the prices and quantities

PTO.
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(d) | © 630
in the base year (year 0) and current year (ycar 1) are

given as :

q, P, 1, P, q, Py

Year0 (g, =4 |p =1| ¢,=5|ps=1| 45=2 | P4

10

Yearl | g, =6 P, =4 ‘/:1=.|5 Py =3 ¢, =0 | Py =2

Find the nominal expenditure and the real expenditure,
Also find the inflation rate of the economy an\d the
weighted average df price increase. 7
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q,

Py

1,

P,
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10

Iy =3

Py = l

o 72

P4 |

q“=6.

P =4

¢y =15
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(«)  (Compulsory) Choose the correct answer and give the
(! o :

brief reason(s) for your choice :
G0 Quanti'ty Theory of Money impliés that : - e

The rate of growth in the quantity of money

- (@A)

determines the inflation rate

(B) Money supply is controlled by the Central

Bank
(C)' .Money functions as a store of value

(D) MY=PV

PIP_SLE.S = @ o = ——
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‘(i) Hyperinflations typically begin when : 2

(A)  Government finarice large budget deficits by

external borrowings

(B) Government finance large budget deficits by

internal borrowings

\]

(©  Government finance large Budget d.eﬁcit_s by

Ll

“printing money
D) " All of the above

Explain the Central Bank influences the monetary

base and the-inter-bank interest rate by open market

operations. ' 7

How is the rate of interest determined by the demand
and supply of money ? What happens to the interest

rate if :
() Nominal income increases and . |

(if) . Money supply increases. e ooy = T

P.T.O.
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() What is nominal intere
| 1
| to 7 per cent or the real interest rate changes from 0 10
: .
E 8 percent, then what will happen to the nominal interest
|
n
E rate according to Fisher Effect ?
| o
E What is the social cost of expected inflation 2. 7
!

(¢)  How does Hyperinflation affect the economy 7 How do
, the Hyperinflations end: do they die a natural death
: or a stabilization program is required ? What are the
1§
l
E elements and costs of such program ? 7
|
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, |
3. (a) (Compulsory) Explam in brief whether the following ‘
statements are True or False. :. r
—
() For a given interest rate, an increase in taxes shifis
the IS curve to the right, ¢ D
(if) ~ The greater the propensity to ¢onsume. the higher
the multiplier. - | | 7
| (b)  Explain the determination of e(]lll|lbllllm lLVLl of
i output, employment and the real wage in the classical
|
;l system. 7 .
, . S \':"“
éﬁmf' A T T A T LT e == i . w e 2ae s AT \-\.
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(c) In Keynesian mode] discuss the effects of changes in fiscal
valn'iables — increase in goVvt. 'purchasels, r-eduction in ;[hé
Income tax rate and an increase in transfer payments, on

the equilibrium level of income. | 7

(@) Discuss with the help of IS-LM model, the effects of fiscal
contragtion by increasing taxes while keeping government
spending unchanged, on output, on its compbsition, and

on the interest rate. LA ; 7

o :
U/\(e) “Does the slope of LM curve has any implication for the
effectiveness of monetary policy in terms of changes
in income ? What happens in two extreme cases of

Gy o
o horizontal and vertical LM curves ? 7
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Name of the Paper: : Introductory

Macroeconomics
Semester + II
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Instructions for Candidates :.

(a) Write your Roll No. on the top immediately
on receipt of this question paper.
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(b) All questlons are to be attempted
gl Ul & ISR AR |

(c) Part (A) of each question is compulsory.
T&% 9T F AR (A) AFER ¥

(d) Answer may be written either in English

or in Hindi; but the same medium should
be used throughout the paper.
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1. Part-a 18 ¢
Cund D

-A

ompulsory, Do any 2 out of parta B,

WY By v B, ¢ q b 3 my 2 Wi
(A) The follow

ing data is given for an economy

for the year 2015 :

(i)

(i)

(iii)

(iv)

(v)

TSt 2015 @ R e a9
R oife? Ru mo §

fém

X purchases used house from Y for
$ 100, 000 and the real cstate agent

charges 2% commission cach {from X
and Y.

$ 100, 000 H 'X' ¥ 'v' § wp
W@zﬁaramsﬁm%xarve%{%
2 o goh foram |

Government's cost of providing public
education is $ 20 billion.

qEee QR gem B @ o
g $ 20 fafems T

Change in inventory investment $ 10
billion.

g Fae ¥ oftadd= $ 10 fafees ¥
A pays a market price of $ 200,000 to
ptfrc}}]mse a newly constructed house
in the year 2015.

2015 ¥ f4ffa usp a1 7E @iEA
% B $ 200,000 ST et T & |

Government's cost of providing

national defense $ 20 billion.

-{Tc)'ﬁqi ' ‘qﬂ
$ 20 faferas 21

2

By

Using Produet approach to meg,

coleulate the toy
above ceonomic activitjey to Gpp
year 2015, How fovernme
to GDP ig measured 7

GDP Wiy o crmper fafy FITAT e
2015 _'rf}? fors 3o oy anfd= hmr-‘s'ﬁ #
GDP # wwwar ot s a5 | o AT 77
GDP s #war @ qr amp oy B, 34t o
a4t Tif?

x\n‘in;'.(‘:DP,
al contribution of the

for the
nt's contributign
5

at

(B) (i) Compute government's net income,
GDP, and GNP from following data (all
figures are in billion dollars).

Taxes = 500

Transfers = 100

Interest payments = 100

Private disposable income = 1000

Net factor payments from abroad = 50 3
Frfefea sifmst & am @ g ams GDP

a9 GNP F1 o &% (ol o fafrms
SR A ¥

% =500
BEICAROT = 100
AN YA = 100

Felt Mg = 1,000
RRef ¥ g @ew g = 50
3 P.T.O.
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W) .\\ rite the national income identity f
AN open economy and show that noi
CXports shall be positive if t;e
aomestic spending is less than
national income (Y). ' 2

TS Gl onfermr $ R wsa o
TS BN AR g @, TS o
() § =9 B ‘
'C) {i) What is the fundamental balance of
3 pavments identity ? Suppose country A
~ =" o *forgives § 100,000 in debt owed to it by
——" *2%.=""the Country B, Show how are country A's
~=-~,7-#) balance of payments accounts affected ?3

L SrETTIA Y THETT T 8 7
maﬁmg%sms;mo,ooowsm

Wm%,vﬁa%%srBaaﬂr%,

ZeifET @ A A N A AT @ e
geqrfae B 7

(ii) "A country's current account balance
equals its change in net foreign
wealth". Do you agree? Discuss.

e gy F ARG Gl AT TEH IS

ﬁ%ﬁﬁm&fﬁ'w%w%l”w :

oTq geda & ? e B}

(D) (i) What is GDP deflator ? How is it different
from consumer price index ? How does

CPI inflation overstate the increases in
cost of living ? 3
4

Farh & ?
(ii) Define national savings in terms of
various components. . 2
R Tedl 3 w9 F UKE Sl B
g # |
2. Part A is Compulsory, Do any 3 out of part B,
C,DandE.

g—AW%IWB,C,DaEﬁ@@és

| .

- (A) What is Fisher effect ? Calculate ex-ante
and ex-post real interest rates from the
data given below : '

Rperx_swma @/n ¥ 7 S R T eiRsT &
TFg-32_d - ariasd A a3l B

O FR .

Variable/Year 2013 2014
g : .
Nominal 0.15(15%) 0.15(15%)
interest rate
opfae &1 8T
Expected inflation =~ 0.05(5%) 0.10(10%)
Actual inflation 0.06(6%) 0.09(9%)
qrKifere Thifer

5 P.T.O.
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(ii) Write the national income identity for
an open economy and show that net
exports shall be positive if the
domestic spending is less than
national income (Y). 2

(C) (i) What is the fundamental balance of

, ayments identity ? Suppose country A

\ $ \,J calth m,w’gorgives $ 100,000 in debt owed to it by

' =3 ’ g)\w"'“ the Country B, Show how are country A's
Qa0 ) balance of payments accounts affected ?

'v~@$A(Eﬂ
e Y EHEOT T T 7
qﬁaﬁﬁmgé‘ams;loo,oooaarw
1%

T B, ST 9§ Ay B & @ E,
gqfeT # 3T A H G J9 Gl B
- yeiea @ ?

(ii) "A country's current account balance
equals its change in net foreign
wealth". Do you agree? Discuss. 2
g 3 T A @ AT IR IH
Rl Ty o SaeE B S 8 17 T
3Ty GeHd & 7 R Al :

(D) (i) What is GDP deflator ? How is it different
from consumer price index ? How does
CPI inflation overstate the increases in

cost of living ? 3
4

3

8687

i

GDP ST9EHIfer HH 91 § ? 98
e f q;-? & f‘ﬁ; 2 ?qﬁ%& CPI
F{gli?l, SINSE TEHT
o B ? e i
(ii) Define national savings in terms of
_various components. . 2
fafry geepl & ®9 F UT S=al &
R &L |

2. Part A is Compulsory, Do any 3 out of part B,
C,DandE.
%W—Aaqﬁmﬁ%nmn,c,nalsﬁaa%s‘s

| .

~ (A) What is Fisher effect ? Calculate ex-ante
and ex-post real interest rates from the
data given below : :

fpeX uwg AT & ? N9 Ru g efiwst @

w329 CRI-de arafas St o @

TOFT HR | .
Variable/Year 2013 2014
/AN _
Nominal 0.15(15%) 0.15(15%)
interest rate
o =T &3
Expected inflation ~ 0.05(5%) 0.10(10%)
Actual inflation 0.06(6%) 0.09(9%)
qrfaes Ehifa

5 P.T.O.
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(B) (i) "What are determined in bond markets

are not interest rates, but pond pricc: n
In this context distingu1§h betwcen
expansionary and contractionary of§> A
market operations. How do they & ecd
the balance sheet of central ba';xk an5
bond prices and interest rates N
v dts AT S PR @9 e aa_g
0 + ; T
¥ T we AR
ST SREet @ & g w1 T T
2 I @ S o g oS Hwar
T & @ A SR B %.? _
(iiL.Suppose that money demand is given
: \(/) byrl)\ll)“ = $Y (0.35-i), where $ Y is 100.

Also, suppose that the supply of money

is $ 20. Assume equilibrium in financial
markets. . — )2
HqN W @ A Mé = $ Y (0.35-1),
arT & T, e $ Y 100 1 7@ A A

hsgm@gﬁfs;zo%lﬁ?ﬁaamﬁ-

gl 8|

(a) What is the interest rate ?
T & F4T 8§ °

(b) If the central bank wants to
increase interest rate by .10
percentage points (i.e., from say 2
to 12% ) at what level it should set
the supply of money ?

6

8687

Ife B 6 T T FH 10 SR
forgel (S 2@ 12 SRwe) @ =orr
e & O S aHr e w=x

. q) ey T =Ry ?

(C) (i) Explain how the demand for and supply
of central bank money determines the
equilibrium interest rate in an
economy with currency and checkable
deposits ? Explain using formal analysis
and diagrams. ; S

' R B BA ABTA THIT T HIA B
Y TH gznfwﬁaa@qg q 9T & Rw AT g
PRI [T =Ae1 X
frrafRa wﬂg ?

(ii} Let's consider a special case where
people hold only checkable deposits,
which n.esans currency to money
demand ratio (c) = 0. Assume that
reserves to deposits ratio (9) = 0.1
(10%). 2
o fadw Reafy w Rew & w@F @
P AHE T T §, e o 7w
¥ 5 R0 ST oA () =0 B "
e #t Rad waid srgATa
(6) =0.1 (10%) &

(a) What is the value of money

multiplier ?

AT I BT A E 7
@ g P.T.O.
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(b) Suppose the central bank conducts

(D) (1)

(i)

open market purchase of bonds worth

$ 100 Billion. What will be its impact

on overall supply of money ?

oM w5 3 %6 $ 100 RfRE

3 Sy H G TN @4E FE 6

SO AT A e X R S 99 7
Suppose the Government chooses a
constant rate of nominal money growth
and maintains that forever, how much
Seignorage will this constant rate of
nominal money growth generate ?
Discuss the empirical relation between
Seignorage and nominal money growth ?
Explain using formal analysis and
diagrams. 5
7 AT 5 aReR wieRe 3E I A
Tl & S & T g @ [T
Iq FIC ? | e _giefas g&T aﬁ
Wl & R RERg
wiafew g1 gRg d 7@
QW Gy @ greAT Y | ATERE
RYAYTT g R H UGN FXS AEAT B |
Suppose the Government is running a
budget deficit equal to 10% of real
income and decides to finance it
through Seignorage, so deficit/Y =
Seignorage/Y = 0.10. Suppose people

-~

.

i

hold real balance equal to 1 month of

income, so (M/P)/Y. = 1. What should

be the nominal money growth per month ?
2

8687

AT T 1 TBIRX H =ao7e greT aregfoes
ST & 10% % sRE ¥ e wxee

q T/ Y = REARS/ Y = 0.10 B 5w
AT 5 AT arafis A9 1 7A@ oy
H TR @A B A A @i g

gl 4 g anfe ?
(E) (i) How d.oes hyperinflation affect
economic activity ? Explain. 5

BZUX I, onfefes foparady oI
HCA & 7 e HY | o

gi) A ‘bond promises to pay $ 100 in one
year. What is the interest rate on the
bond if the price of the bond is $ 75
and $ 85 ? What is the relationship
})etween the price of the bond and
Interest rates ? 2
U 91 0 9§ § $ 100 2 a7 arer
® ik dic # P $ 759 $ 85 @rmg
IS 9 AN 1 497 eFlt ? & & ang
q AN X F A" F ey § 7

3. Part A js Com
pulsory, Do any 3
C, D andE, Iy y 3 out of part B,

HFT- A WA B 1 AFT B, C,D 9 E § Q #15 3571

(A) (i) What is crowding out ? Explain with
: the help of a suitable diagram. 3

HSET ifee ;M & ? Iugem R #
eI § TR |
9 P.T.O.
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(ii) Consider the follow

ing Classical model ;

000, Velocity of

Money supply = 1,
oney supply 121,500

Money = 3 and Outpu
Derive aggregatc demand curve
the above information and plotit. k
Fyeferfere qreaardl dise 97 &= &L
gmgféu,ooo,gmaﬁm%m
I = 1,500

SuReR QAT @ THA AT a® T Tt
qur e R § @Ma ®WYod S@E F
gartga |

¢ from
)

o~

(B) (i) "In the classical model, a cut in the

marginal income tax rate has supply
side effects”. Discuss the above
statement with in the Classical
model, How output, employment and
price level are affected ? 5
qoqTar Stew #, @Hia o IR & A
AR A il wer s drer 8”7 qrRard
s B R IUNFA HYA Bl AT
| IQE, VPR g HHa @K B4
e oy ¥ 7

(ii) Define velocity of money. What factors

determine the velocity of money in the
classical system ? What is the
relationship between velocity and
Cambridge coefficient (transactions
demand for money to income ratio) ?
3

10

(1ii)

(C) (i)

8687

T @ afeae #7 ) qregaErd ged
T @ A arw qEm & oan g faifi
Fa & ? A a Hlew g & dm
@y & (F-Ea & fe wgm @) Wi A
A a‘@ﬂl’ﬂ)

Consider the following Keynesian
model :

Full employment output (Y*) = 1,000,
Actual output (Y) = 1,200, Government
purchase of goods and services (G) =
200, Transfers (TR) = 50 and Taxcs =
0.25 Y (25%). Compute cyclical
component of budget surplus. 2
Fr=faftera @fras isa a7 faarr 7 ¢
7+ @i gof IsrIR SwE (Y4) = 1,000,
areias I (Y) = 1,200, @ @ dansi
@ @ "’ (G) = 200, wE@EO
(TR) = 50 ar ¥ = 0.25 Y (25%) &=
SNy & =EHIF geEh T T ?
Suppose Government cuts
(autonomous) income taxes : Show in
the IS-LM model the impact of tax cut
under two assumptions (a) the
government keeps interest rate
constant through an accommodating
monetary policy (b) the money supply
remains unchanged. Explain the
difference in results, S

11 ¢* P.T.O.
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(i)

(i)

What is liquidity 'trap ? Is monetary
policy ineffective in this case ? 3
e o ¥ 7w g Rf q
A AR Hr ¥ P -
Consider the following Keynesian
2

model :

Marginal propensity to consume out
of disposable income (c) = 0.8, Taxes
(TA) = 0.25 Y (25%), equilibrium level
income (Y, = 600. Suppose
Government decides to reduce
transfer payments (TR) by 10
(ATR = - 10), but to increase
government purchases of goods and
services by an equal amount
(AG = +10) (i.e., AG=- ATR). Find :
(a) the change'in equilibrium level

of income and
(b) change in budget surplus.

12

8687

Preffaa SMRfET HJied W) =R #X
g g § @ dmid STNeT maf (o) =
0.8 &, &Y (TA) = 0.25 Y (25%) 379 &
Hge w (Y,) = 600 & | AW Ao 5
GIH ST TR @ 10 @
gerFT (ATR == 10) =rectt 8 afees a&g 9

Farell 1 TXHR TAE B TAEAC A>T

ggrT TrEdt & (AG=+10) (svid AG=-

‘ATR) S &R : '

(a) TT B TgAT WK H FawT T
(b) SeTE SfeE CRCESICH|
' (D) (i) . Within the IS-LM model of income

determination, explain how interest
rate and output adjust towards
equilibrium in case of :

(a) Excess supply of goods and excess

demand for money

(b) Excess demand for goods and excess

supply of money. How the assumption
of rapid money market adjustment
affects the adjustment process
Explain using diagrams. .
S FYRer & 1S-LM wfsa & sigel,
LEE Ry %ﬁ ™ Rufodt § st 2% T
STIET HgAT @ o FHEING e &

(a) TXFT = arnies
i 9t 7 Her B g

13 P.T.O.
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(i)

(iii)

What is an investment subsidy ? What
are its effect on equilibrium level of
income, interest rate, consumption
and investment ? Explain using
diagram.
PR orge @ ¥ 7 S ST i
HgE ®X, @ 87, I9Er g IREEU
X T g usar § ¢ R @ S
HH A FHK |

Consider thé following Keynesian
model : s 2
Marginal propensity to consume out
of disposable income (c) = 0.8

Taxes = 0.25 Y (25%)

Compute the change in budget
surplus followed by an increase in

government spending by $ 10 billion ?
If the initial budget surplus is $ 3.75
billion, what shall be the new budget
surplus ?

Rrfif HRRET Jed W foER &% ¢

g o & & dmia ST g (c) =

0.8 T =0.25Y (25%)
14

3.

8687

qH @ F § 10 R B TR B
g qofe onferr H GREaw @l T

FX| AR oA ave S $ 3.75

Rt © & 717 Soe enfyeg @41 B8R 7

(E) Consider the following IS-LM model
of income determination :

Consumption function C=100 +0.8Y,
Investment function I =400 - 50i
Govt. purchases .G =500
Tax Function T=025Y
Demand for money ‘Mé=0.40Y-501i
Nominal Money supply M= =1200

P=2

Price level

oTg Frafor & Fr=fRag IS-LM #isa W) fear

SUERT ®aw C = 100 + 0.8 Y,
Rrrar e I = 400 - 501

T @ G = 500

FT B T = 0.25Y

Te1 & R wiT M = 0.40Y .- 50i
TR 9o ) M= 1200

Fog @WK P=2 .
15 P.T.O.
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Answer the following questions :

Rraffag gsdf & WX & ¢

(1)

Write down the IS and LM
equations. Solve the system for

- equilibrium level of income andv

(i1)

interest rate..

IS & LM @ & [ s
e | g o & WX g A &
% fT ool @ oaT B

Find out Budget Surplus and

‘Saving-Investment Gap.

corresponding to equilibrium level
of income.

A ~
Y & HgAT 'R E3 Gigﬂl( CS

M T A &R S T W]

(iii) Derive the values of fiscal and

monetary policy multiplier.

mﬁua%ﬁﬁrwﬁ
qed # F |

(iv) If the nominal money supply is
increased by 100, what shall be .

the change in equilibrium level
of income ?

Hﬁ‘ﬂﬁimgmgﬁ%moaa@

ﬁﬁmwé‘ﬂ?'

(4+3+2+1)

16 3800

—~

- e
Sl

£ ”
T

R R

|
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(Write your Roll No. on the top immediately on receipt of this question paper.)

Note :— Answer may be written either in English or in Hindi; but

the same medium should be u‘sed.throughout the paper.

- ")

froquft : s @ R S et Foveht T o # i,

mwﬁﬁﬁwmwﬂ@‘éé’maﬁw
Answer any five quesfidﬁs. | R
All questions .'carry equal mérks.f
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(2) 57

(@ Explain briefly the following concepts:
() Business fixed investment

(7f) Capital account. , 3

(b)  Assume people of the codntry expect inflation to be .

equal to 5 percent by the end of the 20th Century but

in fact; prices rise by 20 percent over these ten decades.

Describe how this unexpectedly high inflation rate would
help or hurt the fbllgwing-: . . 5
(/)  Firm that provides a fixed nominal pension when

the worker retires.

(#) A person taking out a mortgage in 1950 for 50

years, |
(¢)  Suppose the government increases the expenditure. Use
the IS-LM model to show the impact - of the increase

in government -expenditure under two assumptions :

() The government keeps interest rateés constant

through an accommodating monetary policy.
() The money stock remains unchanéed.

Use suitable diagram 7
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(@)

®).

(©

4 4457
() THETER S AR B TFR tarj = ®
fror TErl ¥ | "
(i) TR wiF 9 Fa Wl A EERECE
ELaC T "
Sfem fo 1 ST HIfC
Suppose during the year the consumer price index rises

from 150 to 162 and the nominal interest rate is 9

percent. What will- be. the real interest rate ? 3

Using the .q'uantity theory - of money and the Fisher

'e'qUat'ion' explain in detail how the rate of growth.in

money affects: the :nominal interest rate 7 5

Consider a loanable funds market of an_eco_nomy.AThel_

following equations describe the economy :

Y=C+G+I"

Y = 3000
G = 1000
T = 1000

C =250+ 05 (Y - T)

[ = 1000 - 50 r

___.----nx’fm b;‘:
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| (5) | 4457

() Find the equilibrium rate of interest and national
savings. ‘ . 3

- (i) | Nb\y suppose, lhlg government reduces the taxes
tc.).SOO. Computé¢ by how much amount do the

- following change ‘:‘ dispo‘s"ellble income,
consumption inveétmght and national‘ savings due

to fall* in the’ tax 4

(aw)m?ﬂmﬁ@aﬁ$€m3qmm
Wwo@rwmz@W%WW
ma9uﬁm%iwﬁwwm?ﬂwm7

y=C+G+1
Yy = 3000
G = 1000
T = 1600

PT.O.
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(6) 4457

C =250 4+ 05°(Y —~ 1)
| = 1000 - 50 ¢
() UEEH SN SR T UK T hl! WA I
() 9 WA RTT fF WRER wE E FEER 500
T 21 T F Fr et e o,
P, v 8 USg wud A ) A R @
FRO AT wgema sTom - ?

L)

(q) Explain how the national wealth of a country can
change ? _ | 3
() ~ What is a money l]]pltipliel' ? Suppose a'n. ecoﬁomy has
a monetary base of $ 20 .million. Calculate money -supply

in the following situations -

(/) All the m6ney is held as demand deposits and

banks hold 20 percent of thejr deposits as reserves.

(1‘1')' All the money i§ held as currency. | 5

(¢ (D, Define budget surplus. What ;ioes negative budget
surplus means ? Explain using suitable diagra'm; 3

() Explain the effect of increase in government

purchase on budget surﬁlus. 4
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(ﬂ)@‘é‘ﬂﬁu@awﬁfaﬁwm%?

(%)

(@)

WWI
WWW%?WW%@&W

B T 20 fHfead Ser @ Hfger STHR T

freafafoa wRferfs § @ @ @R
o wh gm W owm F w A ¥ 3%
Ma’mﬁwzogﬁwﬁa‘a‘%w
O @ | R
(II)H“ﬁﬁi’IW@Wﬁ%I
maﬁwﬁvﬁmﬁﬁﬁﬁﬁlm

©)
Wﬁﬂ@ﬁﬂﬂﬁ%73ﬁrﬂﬁﬂ
wwﬂﬂm_mﬁﬁm L

ORESE a:rfua#wa@ﬁmﬁq%%

The following data is given for an economy for the’

year 2015. .How. each of the following transactions would

affect the GDP and why ? 3
0 lakh is paid as interest on the national debt.

() Rs.2
PTO.
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(8) a - ST
(ii) " Ice-cream maker began the year with Rs. 10,000

worth of milk in his factory and at the end of

the year he is holding Rs. 11,000 worth of milk.

(b)  Suppose a bond pays $ 1000 in one year..

(/) Calculate the price of the bond when interest rate

is (/) 5 percent and (ii) 10 percent. 2

s

(i) What will be rate of interest if the price of bond

is $ 500 and $°800 ? R 3
, \ . . . :

() () What do you mean by crowding out ? Exblain

using a ‘suitable diagram.- v 3.

\

(i)  When the demand for real money balances is less

responsive to the rate of interest, .crowding out

is more.: Explain using suitable diagram, 4.

(aq)atfzmsﬁqawaﬁwa@n@mﬁw%f@a

(’)mmmmmmﬁwﬁzo
Fﬂ@‘o‘@l
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(9) | 4457
(i) TH oEm Ffm e B H 10,000
T e h gy ® WA AT FA T
q 99 & e H 11,0000 °FTF HeA H
Y IHE UE T ¢
(H)Qﬁﬁaﬁﬁwmmoowazﬁrw
S

(i)'ﬁhﬁﬁmﬁ'mﬁﬁﬁmm
R @ 5 "Jﬁfm'%‘a G 10 TRwE T
(i) 9 W e X A, ARG A WA

A 500 TR T 800 TleW T

(F) (5 W éﬂ&@f@?ﬂfoﬂﬂ s ¥7 SUgH
(zl)mwﬁmaﬁﬁqémmmﬁ
%gﬁwmﬁ%‘lﬁ%ﬁrm
amzaqfwz‘m% Eiies ot BT S

mmaﬂﬁﬁli

(@) What are components of current account of the Balance

of Payment of a country 7 3
P.T.O.
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(A Assume that the demand for real moncy balances ig
represented by lhp following : 32
M/P=Y [0.4 — (r + expected inflation)

Where; Nominal Income (Y)'= Rs. 4,000

R.‘cal interest” rate () = 8 percent

Expected inflation = 12 percent is constant in short-run

(i)‘ Calculate Seignorage, if the rate of growth Qf
nominal moAncy is 20. pe‘rcent forever.

(i) Calculate thé inflation tax whe‘n actual inflation
equals 12 percent. s it equal to Séignorage ?

(¢ () .What is liquidity trap ? Is 'mone_:tary-policy

ineffective in this case ? T 3

-

(7)) Explain why the income tax system or social
security system are considered automatic

stabilizers ? ‘ 4

(W)Wéﬂﬁwﬁqaﬁm@@ﬁ%éﬁ
T2

|

— el
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(1) AT y),]a'/’(“”

MP=Y 10 (1 expected inflation) =
Sl Wnfr s vy = 4,000 w97
A oISt 7 () = o8l
smfarr wmifa = 12 ufow seow@ § frar %
(H  FIS T wE wf wEfer g #w 9t

R Waad & feam 20 wfawm
(i) TR W T wifed S@ ardfad PRI

12 wfaee ¥ FH g8 TES Wk AL T
() e S g2 Fn w| feafa #OHieE

Hfy  euERTEl W 8? B

Explain how each of the following transactions would

enter the balance of payment account of India : 3

() The Reserve Bank of India purchases dollars and

sells rupee to American bank.

(if) Indian hotel is sold to Italian investor.

P.TO.
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(12) 4457
R . '
Does Hyperintlation dic a natural death or a stabilization

programme is required ? What are the elements of
stabilization programme ? Also explain the costs

associated with such programmes. | 5.
Given the- following information :

Consumpt\icn _ C =270 + 0.830Y ; Y =Y =T
I.n\'estme.nt | I = 480 - 6i |
Government expenditure G = 120

Tax R T = 150

Price level ' e 30 e
Nominal Money S'uppl); M = 900

Demand for money L = 0.2Y-4i

Full employment level of income Y, = Rs. 3,000.

() Computerzthe Monetary and Fiscal pb’]icy multipliers.

(i) Compute the increasve in- the nominal supply of

money required to achieve full employment.

i : : ' iture
(iif) Compute the increase in government expendit

required to achieve full employment. 322
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(a1) frafafaa A @ w@& @927 Ra & e

A9 @R # DA wa fre e zren wifsm

() IRt dw @ ardm fiod W g eiie
HCSREC I B CC

Gy R FvE W A T wdE

-.(a)waﬁ@%ﬁ1.mm@w€rm
T q fm e fou RacEeyH EEwH I

SIS ‘@Eﬁ ®? waswwm FEFEAT & @™

ST g ardl wi ot =Een s
(m) frfafea efwe fku @ %
Iq4T C =270 + 0.80Y; ‘Yd =Y-T
e | = 480 - 6i
TE =44 G =120

T T =150
HIHA W p =3
| grfas gE gfd M =900
_ . TO.
L | PTO.
r‘;;’?:;%, o ) L S —— R A TET T
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(a)

)

iii) O TSR 9 o3 &

(1) 157
Hal 4 fem g L= 0.2Y ~ 4i
s g AT T Y, < Rs. 3000, 7y
| caised
(u){ﬂfmmmmmm

Hiehfash &1 w1 YA A g L 7@ FifT

~

=g H gig & @ HSEI

Why are exports added and imports deducted when we

-~

calculate GDP with expenditure approach ? "3

How is the rate of interest determined by the demand
and supply of money (assuming no banks in economy)?

What happens to the interest rate if :
() Nominal income falls.
(if) Central bank chooses for expansionary open.market

operations. )

[T AGYIsF TEH]

B
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Explain whether an exogenous increase in price of oil
will shift the short-run aggregate supply curve or
aggregate qemand. What are the policy options available
for the macroeconomist wog'king with the government

. . . ~ ~ f)
to minimise effect of these events on the economy

Use a suitable diagram. S 7

(a)mﬁfum’GDPﬁmmﬁW?ﬁ

frefdi W e W ¥ A S A
freffn 1 ¥ (P ool 3 9 &%
) e w A Em AT A
’(f)gﬁfﬁﬁma‘&ﬁ‘%l
(ii)wﬁm@wmw

I B T

PTO.
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B @ fou fAdw

L @ - @ el & e Ry e FuiRa e WS sigweie foifae |

2. @t wA @ I Al |
3, WS TIT H AN () AFEd 2

4. TE WIT-UF 1 IR Adel a1 FE Rt v o F S, aferT wft SRl e v

A B =Ry |
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!. Part (a) is Compulsory. Do any 2 out of Parts (b), (c) and (d).

(a) Determine the contribution of each of the following traasactions to the current

year’s GDP. Explain your answer.

(i) Mr. X purchases a 10 year old apartment for Rs. 50 lakhs. The broker’s
fee is 5%.

(ii) A homemaker takes up a job that will pay Rs. 1,40,000 over a year.
She also pays Rs. 24,000 over the year for professional house keeping

services.

(iii) Your neighbour has won Rs. 1 lakh in the state lottery, to be paid to
him immediately.

(iv) A Korean Company builds a factory in Haryana for Rs. 10 Crores
using only local labour and materials.

(v) The Government buys defense equipment worth Rs. 2 crores. 5)

(b) The following information pertains to an economy

Gross Domestic Private Investment =60
Govt. purchases of goods and services =59
Gross National Product =300
Current account balance =-30
Taxes =100

Governmenrt transfer payments to the Domestic private sector = 50

3957

©

(d)

3

Interest payments from the Government to the domestic private sector = 20

Factor incomes received from rest of the world = 10

Factor payments made to rest of the world = 15

Assuming Government Investment = 0, Calculate
(i) Private Consumption Expenditure
(i) Private savings and Government savings

(iii) Establish the “Uses of Private Savings” Identity. 5)

(i) Ram grows apples and oranges. Last year he harvested 1800 apples
and 900 oranges. He values 1 orange worth 3 apples. In exchange for
helping him, he gave Mohan 600 apples and 300 oranges, all of
which were consumed by Mohan. Ram, set aside 200 oranges to help
with next year’s harvest. What is total Consumption in terms of

oranges ?

(i) What are inventories ? How are they trcated as — final or intermcdiate

good — in National Income Accounting ? . (3+2)

@ A pcrsbn from country ‘A’ travels to country ‘B’ and buys a
$100 worth household electronic machine from a company.
The company then deposits the S100 cheque it receives in its
account with its bank in country A. How would these
transac'ions show up in the ‘Balance of Payments® accounts of country
A?
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4

() Nominal GDP in a country was $6890 billion in 2012 & $7650

billion in 2013. The GDP deflator was 102.4 in 2012 & 105.6 in
2013.

(@) What is the inflation rate from 2012102013 7

(b) What is the growth rate of real GDP from 2012 1o 2013 ?
(2+3)
(@) sFad 2w (@), (1) T (@) FIDE 2R

() o9 T B TFA W IEW (GDP) ¥ forafarre e -3 & weawT =
FroiRa o | FE IR T R

(i) 50 AT T H Mr. X T 10 W A A0 @A B | T G 5
s 24

(ii) v TEUR HwQ F TR B S I T 1,40,000 790 9 M 196 TR
B W T T T A Fa B o o § 24,000 T F A A
21

(i) S i 3 e e ¥ ) o T A 2, S g @ R

(iv) T T Tt 7 am 9 Erl @ I RS 10 FAE T A BRawn
¥ g Padt 1 e w2

(v) @R 2 &3 TR T4 @ @ AR @l 2 )

(a) Fefafem qa o& sdaae @ faoa ¥ 3

7w e B fam 40

3957 : 5
TR 9 A N WL @l 50
A T A 300
I @ A 30
o 100

wte Fieht & =t el TR WWEE 50
W] e &7 & TWER B AT WA 20
Av fAma ¥ I T T P 10

W9 favg A & T WA e 15

- A ARG 9w 3w = 0 2, R W
(i) Pt I =
(i) ot aod T W T
(i) “Felt T STER” e S R W |
(@ (i) ™ ¥ 7 ¥R ST 3 1 Ao af I 1800 ¥ T 900 TR A T A |
6 U TR WY 3 VAl D G ARG § | IAX A H 600 I T 300
qR Ja 7o wer @ e fAfmg F Ry @ ot w1 9ol A e fFa

AT 1 IP1 Y 200 G IR qF HeTE B 9 WeT B v Uah o @ | T
& TN | IYINT fa 2 7

(ii) ‘T T B ? Uty 3wy e A 7 Ay wfwfg R wrn ® - S
TG A1 AT TR - D TN |
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g (b) (i) Comment on the following statements Justify your answer.
() (i) v =fr 3w A X 2w B o 7 e 8 9 TF T E $100 T R W,
T W @led € 1 98 S 5@ S 100 ¥F RNAIMAD I IF (a) An increase in nominal money growth rate will always increase
9 seignorage.

FEET X T DR 2 | TE -3 2 A D e Ta @R ¥ o R gnorag
TS e | . . (b) The inflation tax is always equal to seignorage.

(ii) o 2w ¥ g g W Iae, GDP, o .2012 ¥ § 6890 fafmT T af . (i) In a classical macroeconomic model, what will be the impact of a 20%
2013 ¥ S 76 3 - a;ia , e 3 1024 increase in the supply of money, holding everything else constant, on

s0 fafoaw 2 1 9t JAR FEIRFRES 2012 .

the price level, money wages, real output, interest rate, employment
27 2013 ¥ 1056 21

and nominal output ? (4+3)

(71) =d 2012 ¥ 2013 v whifa T 2 ? . . . . . . .
(c) (i) Graphically illustrate and briefly explain the impact of an increase in

@) af 2012 ¥ 2013 9% T=RF GDP & —iﬁ" wETE? the reserve ratio, 0, on the market for Central Bank money.

(i) Assume that the demand for real money balances is :
2. Part (a) is Compulsory. Do any 3 out of Part (b), (c), (d) and (e).

M .
(a) The following information pertains to a classical macroeconomic model. - Y[O.G —(r+ T )]

Real output = 2090 )
Income, Y = 1000 real interest rate, r= 0.05 (5%)

Money Stock = 800 Expected inflation rate

Income velocity of money = 25 n¢is constant at 0.05 (5%)

(i) What are the aggregate demand and aggregate supply schedules ? Calculate seignorage if the rate of growth of nominal money is
Roughly sketch them. 7%. (4+3)

(i) If the money stock increase to 1000, how will the schedules

(d) Given Rescrves=500 Deposits=4000 Currency=2500
shift ? )

Calculate

() The size of the monetary base.

PTO.
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(ii) The moncy multiplier

(i) Given the above values, fill in the Asscts and Liabilities in the Central

Bank's balance sheet and the Banks® balance sheet

(iv) Suppose the Central Bank wants to reduce the money supply by Rs. 65
Crores, what typc of Open Market Operation should it pursuc 7 What
should be the valuc of the Central Bank’s purchase or salc of bonds

so that it is successful ? (7)

(e) (i) Supposc the ratio of currency to checkable deposits is 0.25 and the

reserve ratio (R/D) is 0.25, what is the value of the money muliiplier ?

(i) Differentiate between ‘Orthodox’ and ‘Heterodox” stabilization

programmes adopted during hyperinflation.

(iii) Given that, a bond pays Rs. 1000 in a year and the yield on it is 15%,
calculate the price of this bond. (3+3+1)

s () st £ 1 o (@), (), (@) 7 (@) ¥ D 3 R

(%) Fraffia 41 Fafas R Afds Aew @ fog 8:

IrafaE IR 2000
TR 800
I I AW 25

(i) & @i 7 e gfd afeed @ & 7 3 auy |

(ii) af 971 =iw 1000 oF ggan B, A AN Hd fagd |

9
(@) (i) Frferfera Rl wOw w1 A T Wi wJ )

3957

(#7) wdf T fz 7 A ofa wa foele @ w2

(@) =iy 7R wa fadia & ae B 2

(ii) v Fenfade T afda wiem, ¥ dnm =R e wogd e Iem,
e o, AR T ADEAE IAE 2R, FF T G B R, oD 9 A 20
wfemra gfg & = wE T

@) (i) 3 ¥ @ R fg A W o g, 0, % 9fe & wia @ e
JeTeRel BRI WA e &+ |
Ammvxﬂa%mﬁaﬂmﬂ%w@ain ﬂi,?.??az 21
Jra, Y = 1000 arafas @ X, qn,o.aa.x_u
Ffde =R T e =0.05 (5%) W w21

el ) T Y afE W T @ g T 7 e B

(7) D Ry g R = 500; T = 4000; =i = 2500
TOAT R :
(i) 3w R =1 IER
(il) F&r TR

(iii) T Ry ¢ 7 B MR W Fég TF @ o fie 7 I A 0= W
¥ anferdt 7 o WY WY

PT.O.
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(iv) 71 e 2% A= Far 65 g T } TET N G T ew ¢ 1 T I
o Wt < g TR W SRR BN 7 B de @ B @i a1

Y Si=E M Heq I BT Y i q8 Fhe 81 WY |

(®) (i) 77 ST N FER FT ADIT TR R I IO 0.25 2, T T agara
(R/D) 0.25 2 T 32T 0 1 7 4T BN 7

i) T AR B T e R T Rufie’ R s R
49 R

(iii) T &< T 99 9 1000 9% T B 9 39 W A9 15 Wowd & Rarmr & &t
di= T FaT T W |

3. Part (a) is Compulsory. Do any 3 out of Parts (b), (c), (d) and (e).
(a) Comment on the following statements in the context of IS-LM framework:

() An increase in the Government spending leads to an increase in
income but by an amount less than the horizontal shift in the IS

curve.

(i) An expansionary monetary policy is always effective in expanding output

)

in the economy.

(b) (i) Assume the mo:.o«i:m IS — LM model
Expenditure Sector .

Private Consumption Expenditure (C) =100 + W<D

Taxes (1) um_<

TS Ty

3957 11
Private Investment Expenditure (I) = 210 — 10 i
Government Purchases (G) = 200
Net Exports = —10
Money Market
1 .
Demand for Money M* HM<|m_
Nominal Money (M) = 300
Price Level (P) = 2
Where
YD = Disposable Income of the Private Sector
Y = Income
i = interest rate
(a) Derive the equilibrium value of C (Private Consumption
Expenditure) and M¢ (Demand for money)
(b) How much Investment will be crowded out if the Government
increases its purchases by 100 ?
(i) in a simple modet of the expenditure sector with a tax rate t, does a
fall in autonomous Investment affect the Budget Surplus ? Explain.
(8+2)
(¢) (i) A faliin the income tax rate will increase consumer spending; therefore,

the demand for money will go up and the LM curve will shift to the

right. Explain using diagrams whether you m.mnon or disagree.

PT.O.
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(d)

12

(i) In a simple model of the expenditure sector, by how much should the
Government reduce its spending so that the Budget Deficit falls by

1000 ? Assume that the income tax rate is 33 %% and that the marginal

propensity to consume is 0.6.

(i) Explain how ‘Income tax system’ works as an ‘automatic
stabilizer’. . (4+4+2)

(i) In the Classical Model, there is a positive relationship between real
wages and output. Comment.

(ii) Assume an economy described by the following equations
Expenditure Secfor
AD=C+I1+ G+ NX

AD =300 +m< - 20i

Money Market

M* ==Y - 50i

pe
3
M/P = 200

Where :

AD = Aggregate demand

C = Private consumption expenditure

[ = Private investment expenditure

G = Govt. Expenditure

3957 13
NX = Net Exports

M¢ = Demand for money

M/P= Real Money Supply

Y = Income

i = interest rate

(a) Calculate the equilibrium levels of Y (income) and i (interest rate).

(b) What should be the money supply increase by the Central Bank,
if its goal is to keep interest rate constant after Government

purchases increased by 100 ? (4+6)

(¢) (i) In the Classical Model, an autonomous decline in Investment leads to
a fall in the overall demand in the economy. Explain, with the help of

a diagram, whether you agree or disagree.

(i) An expansionary monetary Policy is more effective, greater the interest
: sensitivity of Investment spending. Explain with the help of a diagram.
Also, provide an intuitive explanation.

(iiiy Assume a model of the expenditure sector with no Government or
foreign sector. If the savings function is defined as S =400+ 0.2 Y,

(Y = income) and the autonomous Investment increases by 100, by

how much will consumption increase ? (3+5+2)

W (&) aFEd 2w (@), (1), (F) T (F) XA FE AT w0

(@) IS-LM 2t & gl § fifeiiiad ®o W aah &Y |

(i) Tt = ¥ gfe ¥ o ¥ gfe O B wog IS T @ dfowt Rewa @
B 2

(ii) v fomwe AR AR vy fge Iamwe sefaEen § el @ e

PTO.
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(i) Fe=fafem 1S-LM sz @ wfg

wq &3

Rl I = (C) = 100 +W<c

= |
(==Y
w o {1) >

ol fw (1)=210- 101
T =@ (G) = 200
y< | =-10

o1 TR

W R M nm,\-um

A @1 (M) =300
o ' (M) =2

() PR S0l @g (C) T wer A (M¢) 3 T TR G &

(@) R wER S @l F 100 A TR @ @ fEw FEw ‘Fessiae”
B

(i) TR (1) D WY =T O R WURY A | 1 @ 3 fiae 3w

Sftre Y wwifde ol © | R

(@) (i) 3@ o X fnEe Ioin @ @ w2W R ) <ERe 3o @ o g ad 2

T LM T 321¢ 3R faes s 2 1 g 9 werar @ aren W R aw are
€ a1 78

(ii) v =g BT R AUR A A TWER B 91 =7 e § wem & Fasqdmar

? 1% T9Z W11 1000 ¥ T WY | WA ST R FE W 334 % & T @I
ITIT W3 06 2

3957 15

(i) e WX A “ g e efafzn Rt 0w wm

21

() Amvﬂ%ﬂgﬂﬂﬂmﬁ%ug%ﬁ%ﬂqi&iw_i

Ll
(ii) v anfaraen =t wee Fefafaa @l 4 77
=7 &7

AD=C+1+ G + NX

>Uuuco+m<lmo_.

JeT A

PT.O.
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() Y @i age w @ e

(@) W =@ A 100 A g AN R AT DT b g @ M F I
Rt BN Y 7 a7 SHe St @ W A e T B

(¥) (i)m@mwﬁaﬁmﬁaﬁaﬁmamﬂmﬁmmﬁﬂ%
2| R < weEar ¥ IReEn oY @ A9 9eAd € a1 8 |

(i) R e A SR T A 2, v FAT =@ @ e @ A

éﬁaﬂsﬁmmaﬁ%lwﬁ?%ﬁm%mﬁlwaﬁﬁﬁ
fereor 7t <1

(iii) v == aaﬂTsaaﬁa%qﬂlﬁﬁm'waﬁ%ﬁ &= afd a9 wer &
S=-400+0.2Y, (Y=3am) ¥ aRenfeer frar wan 3 7 wanfera A 100
q 9¢ W 2, W Ie A fHe gig en ? '
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(2) R 630

(a) (Compulsory) Choose the correct answer and give briety

reason(s) for your choice :

'
N

@M  Inan open economy : 2

N

(A)  national savings are always equal to domes-

tic investment

(B) national savings equals domestic investment

plus the current account balance

(C) national savings equals domestic irivestment .

plus exports of the economy

(D) national savings equals-domestic investment

plus statistical discrepangy.

9]

(i)  The real interest rate is :
(A) interest rate given by a commercial bank
(B) nominal interest rate minus inflation rate

(©) nominal interest rate plus irflation rate

(D) none of the above

5

()

-9

@

(3) L6304
What is inflation rate 2 If GDP defator rises from 100
in year one to 107 in yeartwo and 115 in year three, what

will be the inflation rate between year one and two and

between year two and three,

If the nominal interest rate is 9% per annum during all
\
v

these years, what will be the real rate of interest between

year 1 and 2 and between year 2 and 3, ' 7

What do You mean by Balance of Payments Accounts 2
What is the fundamental balance of payments identity ?

Explain with exanﬁples.

What do the. unemployment rate and the inflation rate

.

measure ? Why do economists care about unemployment

" and inflation ? . 7

If there were three goods 1,2 and 3 and p stands: for

price, and ¢ for output, then the prices and quantities

~ _ PTO.
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(6) , 630
A@Vdﬂ%mﬁrﬁ.fwaﬂaumwﬂazmwn@mﬂﬂ ..
¥ AR ¢ Frfa, 7w suR 9 (ad o) sk
RUS Y (a9 1) ¥ ¥ 3R A T YER . (A)  Government finarice large budget deficits by
,. w™E: -

(7) | 6304

(i)  Hyperinflations typically begin when : 2

1 external borrowings

4, P, 1, P, q, P, | “ . (B)  Govegynment finance large budget deficits by
&0 Q=¥ Pu= 1| qy=5 ] p,=1 _Q__..n 2 p, =4 I mternal borrowings
. ' “I '

/ qs | @, =6 p=4|q,=15| p, =3 ¢, =6 P.uwj ‘ .

(©) Government finance large mcamﬂ a.nm_e:m by

THE T 3R arefas o @ wifem . | printing money
s F TR R iR W gfs W R | o . |
s _ . , I (D)  All of the above .
| o w@ s |

_ . b Explain the Central Bank influences the monetar

2 (@ (Compulsory) Choose the correct answer and give the . ©) P nces y .

brief reason(s) for your choice : . . base and the - inter-bank interest rate by open market
() Quantity Theory of Money implies that :- 23 - ovnE.:g:w

-(A)  The rate of growth in the quantity of money

() How is the rate of interest determined by the demand

determines the inflation rate _ 4 and supply of money ? What happens to the interest

(B)  Money supply is controlled by the Central - rate if : ‘ g

Bank _ ) ¢ o
()  Nominal income increases and ..
(©  Money functions as a store of value

~ (@)  Money supply increases. . : 7
W O) MYy=pv : , :

_ . - . _ PTO.
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(¢)

What is nomimal interest rate ? 11 inflation vises from
10 7 per cent or the real interest rate clhanges fron 610
8 percent, then what will happen 1o the nominal interest
rate according 1o Fisher Effeet 9

What is the social cost of expected inflation 7. 7
How does Hyperinfation affect the economy ? How do
the Hyperinflations end; do they dic a natural death
or a stabilization program is required ? What ave the

elements and costs of such program ? 7

(%) (ifFad) |& e g v o = & fog

HAY H HEW GIORC
() gx urimm fagia w1 oad B fE

(A) HST H AT H Fhg-gL TRIG-GL H
frufer et &

® FH-9fd FEE 9w @Em fEba w5

©) mﬂmﬂﬂ,ﬁz%ﬂmﬂ&ﬁ&

M) MY=PpV

(@) T FifT F R qw R T e aew

(M)

uy H wEfa frdoa: @@ g A 7, A

(A) TR AT A YN AT A2 FAZ AT

-

C(B) TR AWAE U W A2 Ae A

S (C) TSR HH-TEM A A3 AN T 6

fad=a & 7

(D) I9gF |

e T © |

T H A R gfd gR = X fRE 7ER

fuifa St & ? =19 X W 1 YYE YAl §

S

)  THER o™ dgd § SR

G) W I ad ¥ o1

PTO.

ﬁ_ 9) 034
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(10) O30

(W) wihfo wye @ X wn aewd ¥ 72 Al wif g

3. ()

(b)

R 7 wfww s swil ¥ owen wRafaw W R
6 A 8 wiwm N wwer e ¥, W R wiE @
IER Wil =9 @ W v g3 ?

venfim wwift s wnnfses @ @y Ad & ?

AR wnifi srferaeen ®) frw wer wonfaw
T 7 R il e wer O ¥ e g
i w9 W o 8w ¥ %_m: g el
wrEn anifim O € 7 W wrlwm & T

3k @ get ¥ 2

(Compulsory) Explain in briet” whether the following

statements are True or False @

() Fora given interest rate. an increase in tuxes shifls

o

the IS curve to the right. _

(i) The greater the propensity to consume, the higher

the multiplier. 1

Explain the determination of equilibrium level of

output, employment and the real wage in the classical

system, 7

(c)

LM (¢}

(1) 6304

In Keynesian model discuss the effeets of changes ir fiscal

varinbles — incrense in govt, purchases, reduction in the
Income tax rate and an increase in transfer piayments, on

the equilibrium level of income, 7

Discuss with the help of 18-LM model, the effects of fiscal
contraglion by increasing taxes while keeping government

spending unchanged, on output, on its composition, and

on the interest rate, . 7

“Does the slope of LM curve has any implication for the

effectiveness ol moncetary policy in terms of changes
in income ? What happens in twe extreme cases of

horizontal and vertical LM curves ? 7

(erfrard) "aw # e fw g frafafes s

T@ ¥ e e

0 fodt wew e R @ fag w1 A 9fs s
T B W AR fewE A Tl

) SUm-wara fe iy g T Sa @

ISR OB |

P.TO.
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(12) | 6

(@) Fonfet v & frfe, Asmr ok At wogd
® HgeH wR @ fuko | o @i o

(W)Wﬁmﬁama%ﬂg—mwwmhh
R A IR —TEm ']g 7 ghE, AR W
H et SR FaRor Y # gfig & W @ feee
() ISLMWEI%W@ ffd R, SHRT ST
Wﬁﬂmammmﬁmﬁhr@a
T R ¥ gfg 5 USRI e B YuEt
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(2) .. C 6304,

(@)  (Compulsory) Choose the correct answer and give brief

reason(s) for your choice :

@

@

In an open economy :

/ ‘ 2

(A) national savings are always equal to domes-

tic investment

(B)  national savings equals domestic investmerit -

-plus the -current- account balance -

(C)  national savings equals dqméstic"investment :

-plus ‘exvportsvvof the: economy .

~

. - plus statistical ‘disé:f'ej;?ah'cy:,”? o

PO A

The real interest rate is i* -7
(A)  interest rate-given by 2 comr’rgerci;il bgnk
(B) nominal ‘interest rate’ minus inflation’ rate
v ’ . . N - i 4
e plus inflation rate

© nbminz;l interest rat

- none of the above

B e

. C it . s »""-"“. ."‘."" o+
(D) - national savings equals domestic investment .~ -

v ’)\ ‘,

.

(&5 .What i inflation rate ? If GDP deflator rises from 100

SR

@

(@

" and inflation ?

.

“in year one to 107 in year twoand 115 in year three, what

will be the inflation rate between year one and two and

’

between year two and three.

If the nominal interest rate is 9% per annum during all .

thé’se years, what will be the real rate of interest between

year'l' and 2 and between year 2 and 3. 7

‘What do you mean by Balance of Payments Accounts ?

p . 3
What is.the fundamental balance of payments jden'tity ? -

7
33

-

Explain with examples.

What do the unemijloyment rate and the inflation rate

measure ? Why do economists care about unemployment

7

) Af there were three goods :1, 2 and 3 and p stands for

pﬁ'ce, and g for output, then'the prices and qu;mtities

P.TO.
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(4) . G
- in the base year (year.0) and current year (year ) are

given as :

q, Py 4q, p, q, »,

Year0 | g,=4| p,=1| ¢,=5 | p, =1 4 =2 | py,=4

Year| qn,,=6 Py=4lg,=15 py=3 4y =6, Py =2

Find the ‘nominal expenditure and the real expenditure.

Also find the irflatio rate of the economy and the

weighted average of prlce mcrease ’ i Toicgs. -

(EF) (W)WWWWWW@W

qumw

0} '@FIT a:rzro‘qa'w F .

N

) - T T e e

99§ TR A @
© U FEa g Faw wH steea
%ﬁaf%r%mifm“r%

mwmmwm_,

Wﬁ%w@aﬁ%

(A) WW@W@Q%&W%W ;

(.5) . - - 6304
(i W@mﬂ%
@ o aforfeas S R yew o =
-(B)' Hﬁﬁmmaéwﬁramg‘g
© wﬁaﬁmawwﬁa

@) W”“Wm
(E)Pﬁﬁfﬁ?@wms7aﬁwn®asﬁﬁ
Waﬁ@nwo@wmaﬁ1o7

.3?1’(3{37@7{‘?11531'761% T T T SR
ﬁ%aﬁ@ﬁﬁramaﬂaaﬂraﬁ-—ra‘?ﬁa
R R AT 7

mmmaawﬁﬁmmﬁm
%Haarshaﬁtz%?sﬁaai‘naﬁzsﬂta@
aﬁawﬁmmaw@*ﬁ ?

(m wﬁqé@iémwmﬁ%?q@{dw
Wmﬂw%?@me'aﬁﬁQ\

(=) éfmrﬁatain T ST R F 2 sredemret

AT, R TR & R F o = oww § 2

P.TO.
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_ (6) -~ ' - 6304
(%) =g & a=qd 1, 2 @ik 3 %'aﬁtpaﬁﬂa'ﬂﬁa
Wﬂ?%ai’gx-q_.ﬁvfﬁ-,aaaﬂmaﬁ(aﬁo) i

e A (o 1) F Fe o e g

T ¥ :

9, P, T, p,. : 4 . Py

H 0 2,=4|po=1| 0,y=5 Pu=1| 42| P\, =4

(%3

4y=6|p, =2,

o 1 _q”‘=6 Py =4 9y =45 py=

(@)
. brief reason(s) for your choite : = %5 gl
@ - .Qulaniii)) ‘Th:eory of Mon’ey implies ﬂu{t :T 5
- (A) The ra;; of g}owth in tﬁ_e:-f;u:ahtit)‘r of money

% :détermines the inﬂa;ion rate: .

-(B) : Money supply is cont

Bank . ‘

" (C) ' Money functféns as _a'-vstore of_value, )

®) MY=PV

2h ga

(Compulsory) Choose the cérrqcl émswer‘ and-give the

rolled by the Central

R e L o Lo SRR

©®

©

e
i ;(/1) Hyperinﬂafions';)'piéally begin. when : )
A) Govein}nent.ﬁnance large budget deficits by
external borrowings
. (B) - Govemment finance large budget deficits by

* internal. borrowings

’

(© Government finance large budget deficits by
printing money~
(D) Al of the above

Explain- the. Central Bank inﬂuen;es the monetary -

base and the inter-bank interest rate by open market
opéfatfons. ' .7
"How ‘is the rate of interest determined by the demand
“and supply of money ? What happens to the imere.s-t

rate if :

() Nominal income increases and

(i)  Money sﬂpply increases.

BIOIS
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(©)

(%)

1
(8) 630
What is nominal interest rate ? If inflation ‘rises from 4
to 7 per cent or the real interest rate changes trom 6 o

& percent, then what will happen to the nominal interest

rate according to Fisher Effect ?
What is the social cost of expected inflation 2+ 7

How does Hyperinflation afTect the economy ? How do
tlic Hyperinflations end; do’they die a natural death
or a stabilization program is required ? What are the

A »

clements and costs of such program ? 7

(stbrared) W I g o ST o 6 f

AT HHRO TARY .
W quﬁ:{mvrﬁl:giﬁaﬂ\?ﬂ?i%ﬁﬁ:
A(m‘g;raﬁmmﬁé'ﬁ‘i-ﬂ?ﬁﬁfﬂém
fryfeor wet §

c@ TR S dw g fe A

STt ®

%

() MY=PV

(o) ‘ 6104

@ ﬁzvﬁﬁrﬁﬂqu{aﬂ?ﬁﬁm

) Wmﬁmmﬁwnmm
®), W awmﬁ?ﬁwﬁma'%mmﬁ
@ frde wh d

(O, TR T T A A A

fordor et &
‘© s .

K (@)Wﬁﬁqﬁﬁﬁﬂﬁiﬁﬁ?ﬂm@w

wuifaa ol § |

"'(ﬂ)'gmaﬁnﬁaﬂxqﬁfmmamw

fruff Bt ¥ 2 =990 T W A 99™ uSdl ©
SEEEE ,

() TEEE o SE ¥ R

o) O A E

" PTO.

Scanned with CamScanner



3.

(1) - . 6304

(u) Sk = ) A /O § 7qi%:pqaﬁ;4

=)

(a)

)

%79ﬁmﬂaaﬁﬁ%awamﬁa:mzt
eﬁsgﬁmﬁwsﬂﬁ a‘afq:srzgmza
Wa@mmmw.wumm?

e o w1 fRw SAR S w

? 7wwﬂﬁmﬁawwzﬁﬁz T IR

wwﬁmm@mamgawmm o

SR i ¥
i @ e € 2
(Compulsory) Explaiﬁ in brief whether the following

statements are True or False A

() For a given i'me'rést rate, an increase in taxes shifts

the IS ‘curve to the sight. 2

(i)  The greater the propensity to consume. the higher

the’multiplier.

Explain the “determination offéquilibrimn level of

outpuit, em[i?oymcnt and the real ‘wage in the classical

7?@Wsﬁwaﬁ

2 -

©.

- Income tax rate and ‘an increase in transfer payments on

@

g i e ———

(1) ©6am
n Keyne;ian model:d_isbusﬂs the effects of chénges in fiscal

'ariables x increa'se.iri govt. pugcha'ses, rcduction.-'m the

the equllrbrlum ]evel ofmcome o & 7

Dlscuss thh the help of IS- LM model the ‘effects of fiscal:

contracmon by increasing taxes wh|le keepmg government X !

spending unchanged,-on otitpuit, on its composition, and

on the . interest rate. . g "

Does 'the slope'of LM curve has any implication for the

“ effectiveness of monetary policy in terms of changes

(%)

in income ? What happens in two extreme cases of

horizontal and vertical LM curves ? . :

(st waw # wey f w0 frafen wo

w%’amarm

0] %&ﬁmmﬁ%ﬁmaﬁ qﬁgls
Wﬁ?@@ﬂf@ﬁ%ﬁt%

(i) wmmﬁﬁﬁuﬁ@ﬁwmﬁ

IR B

= e

system. . ’ i ' 7 o _ : . \
; b, ; . . i P.T.O.
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The following data is given for an economy for the
year 2016. How each of the following transactions would

affect the GDP and why ? 3

() Rs. 10 lakh is paid as interest on the national debt.

(i) lce-cream maker began the year with Rs. 5,000
worth of milk in his factory and at the end of

the year he is holding Rs. 5,500 worth of milk.

Using the quantity theory of money and the Fisher’s
equation explain in detail how the rate of growth in

money affects the nominal interest rate ? 5

Explain whether a new environmental protection law that

requires firms to reduce their emissions of pollutants

(an exogenous event) will shift the ‘short run aggrcgaie
supply curve or aggreg.ate demand.What " are thg -policy
options available for the macroeconomist working with
the government to minimise effect .of_ these events on

the economy ? Explain using suitable diagram. 7

i\

3 829 |

(31 i 2016 B foAU wH afemme @ faw

)]

)

frefafaa swe Ry TC %1 Frefafen & @

Yo% GDP HI foh@ YhR guifead =@ % o

i ? ‘ '

() T w7 W Ry w = B ®Y F 10
e w9

@id) Wa@aﬂwﬁnﬁmm%@ﬁspoo»
T e kY % WY W H ®
g 9 F Fd H 5,500 IIT A &I
3¥ SEE U e E

T R fagia 9 REYR w61 S

Fa A FIWY 5 3 g2 ghg, qakE
N X H guifad wa §2

= Hie 5 ;= ouw T waiee wam
T T T ST A (o
“}“‘)Wwﬁmmﬁwmw
i T W femr 1 st ® e
F I F T R A WER D W
FH HA G T sewfert # fag
e & fowen s §2 v fo

w1 3T Eﬂ'ﬁﬂ'ﬁl /
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() Foft- aodl & swEm s o$)
n.omin'al gross domestic product is Rs. 12 trillion and () 71 Ei\”‘GiQ'@ A Hgl & T 600 Tafere
i m%’,ma%mma%qqufgm

W

. .
v vings ?
2 (@) What are the uses of private sa. g

(b) Suppose a country’s quantity of money is Rs. 600 billion,

i i illion.
he real gross domestic product is Rs. 6 tri L 7 ° \
| N . T T3 UL T IR 6 feferem Y
(1 million = 1000 billion) : | 5 1t i :
(;) What is the price level and velocity of money in - é}n -E[ . H;T N a_q o
this country ? ‘ ‘i % )

() WF T f& 97 fer § 9 sydormwy
S SERT 5 giwa 9 g ¥ wem §
T FE dE e 9 g w A
-9 g 9 fRe st et gl aw wig

-(il) Suppose the velocity is constant and: the

economy’s output by 5 per cent each year. What

quantity of money and money supply should the

central bank set next year if it wants to keep the . =R O TN @ T %7 (1\:@ Eﬁ'f 5
price level stable ? (Calculate money supply in ’ Tafers q I B?TFa'q" 1)
billions). - S (W ISLM & # st o 51 wgam =@

fraw wfeet & s @ gue Eafcethio]
TR, 3, F199 7 Wger =19 W i
T F e R @ T i
level of consumption, income, investment and interest 3 Qg st Mo :

- Tate in an economy. Also, compare the results with other

()  Using the suitable diagram in IS-LM framework show

the effect of introduction of investment subsidy on the

3. -(a) - Explain briefly the following concepts :

expansionary fiscal policies. N
: () Household fixed investment.
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(i) Monetary neutrality. 3

Assume that the demand for real mdney balances  is
represented by the following : .

M/P=Y [0.4 — (r + expected jnﬂation) '
Where; Nominal Income (Y) = Rs. 2000

Real interest rz;te ) = 4% |

Expecteb inflation = 6% is constant in short run

() Calculate seignorage, if the rate of growth of

nominal money is 15 per cent forever.

(@) Calculate the inflation tax when actual inflation

equals 6 per cent. Is it equal to Seignorage ? 3,2

() Define budget surplus. What does negative budget

‘surplus 'mean ? Explain using suitable diagram. 3 -

(i) Explain the effect of increase in government

purchase on budget surplus. 4

(a)ﬁwﬂ‘aﬁaamméﬁaﬁﬁfmamaﬂﬁq:

0 e ﬁm fraw
() AfsF  qeeem

(@) o chf arefes q@ 9w @ faw wi

ﬁ*afﬂf@am_maﬁﬂé_%:

()

(a)

)

M/P = Y [04 — (r + expected inflation)
S wefaw @ (Y) = 2000 TR
grdfas =N () = 4 A

- s W - 6 YR eregsd # fer ¥

¢ WRe @ Fifve 9 weiE 99 w5 gt
W wg & faw 15 ylawE T

(i) TR FX T HISQ G ARAGD TR
6 T ¥ FN g8 TS B AR T2

() o nfued @t it wifsq ) oS
T g #1 & 99 ®? 3few@ fam
FH I Fh ARAT BT |

() T MYFE W WER w9 # gig H
JUE H ARAT Hif |

If the GDP deflator for the year 2016 is 110 and the

nominal GDP for year 2016 and year 2015 are 5500 and

38Q0 respectively, find the rate of growth of real domestic

product keeping 2015 as base year. 3

Seignorage is the real revenue from money creation. If

the government chooses a constant rate of nominal

H
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money growth and maintains it forever, what would be
9 5

its effect on seignorage ¢

(© (D Graphically explain the derivation of aggregate

demand curve using 1S-LM framework. 3
(i) “Explain monetary transmission mechanism. 4

(31) 7% o 2016 B Forw oop fewim 110 g Td
2015 T4 2016 ® foU WiHfE Gop FwE: 3800
§ 5500 ¥1 T¥ 2015 Y YR o9 TEH STAIR
Wy TR F e R T F

@) T Fe ¥ ¥R o e bR

WER TE R q@ e R & GE S
T AN WE W N @@ §, @R S
W R OWNE =WM? ‘
() @ ISLM X -394 FS Wfew 5 aF
& o fmiw 1 e s

() WEH TEIRT T B AR HIHTC

(@)  What are components of current account of the Balance

of Payment of a country ? 3

s g T

€99 8929
(b) A bond promises to pay $1000 in one year,
() What is the interest rate .on the bond if its price

today is $ 500 and § 800 ?

(i) What is the relation between the price of the bond

and the interest rate ? 32.
(c) (}) What do you mean by crowding out ? Explain

using a suitable diagram. 3

(i) . When the demand for real money balances is less
responsive to the rate of interest, crowding out
is more. Explain using suitable diagram, 4
(3 T W F YOH 99 F G TR B weF
¥ ?
() @ 9¥ 4 F dis 1000 SR ]| w1 TN
@R

() S W AN W AW, AR o Su

FHHT 500 TR o 800 TR ®)
7
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(i) s F FHT T S R FH A FW
R

(F) () wefen omse ¥ TEH w3 ¥? sugE
fasr &1 ITEM HIfST

) w9 A g 9 B e\ e )

F W #9 FaEwia e & @ wefen

ase wifus B &1 Sugw fad @1 SwEm

@ S HIT '
Explain how each of the following transac!ions would

(@

enter the India’s balance of paymeént accounts.

I. . The Reserve Bank of India sells dollars and buys.

rupee from a Swiss Bank,

II. Indian resident opens a Swiss Bank account. 3

(4) What is a money multiplier ? Suppose an economy has
a monetary base of $ 10 million. Calculate money supply
in the following situations :

() Al the money is held as demand deposits and

banks hold 10 per cent of their deposits as reserves.

(#7) All the money is held as currency. 32

C 1 8929
(¢)  Assumc the following 1S-LM model :
C =200 + 0.5 Yd

Yd =Y - Tax '

‘A Tax. = 0.2Y
1 = 400 - 36i
G =120
M = 200
P=2
L =02Y - 8i

() Calculate the equilibrium level of income and

interest rate. 3

(i) How much ‘investment will be crowded out if the
government increases jts purchases by 120 and

nominal money supply remains unchanged ? 4

(a7) frfafen # & w&F -3 M@ F PTH
I @R F B whir R SR e @
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0 fag 9% ¥ arda fod S5 grr oR
quﬁaﬁé‘mgﬁﬁl '
(H)Wﬁa’m’faﬁﬁw%ﬁ@ww

’

@rdr

() 31 T T 82 AF AT fF ww arefemawen

& T§ 10 fAfemd SR @ Wifgw emur ¥
Frefefen TR § 0 W w0 W@
) wﬁgmqﬁmaﬁwﬁ%wﬁm
Aot Sl w10 whve fed @ w9
ERCIRY '
(n)‘mﬁgmar‘mﬁémﬁ%l

(®) fefafes sfwe Ry m ¥ .

.C =200 + 05 Yd

Yd = Y — Tax
Tax = 0.2Y

I = 400 - 36i
G=120

(a)

"(6)

(9

(i)

13 ) 892

M = 200 \
P=2
L =02Y - 8i

() ST F HEH W F TIF R &R e
Hifea |
el fowr #ee afmse %’r’ﬁﬁﬁzw

T @l W 120 A TG ¥ A WA
mm o A @

How does GDP differ from GNP ? If a country employs

many- foreign workers, which is likely to be higher :

GDP or GNP ? 3

What are the social costs of a predictable inflation ? 5

Consider a loanable funds market of an economy. The

following equations describe the economy :
Y=C+G+1
Y = 6000

G = 2000
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( 14 ) - 8929
" = 2000
C=3500+05(-T
| = 2000 - SOr
Find the cqxnilibrium rate of interest and national

3

Now suppose the government reduces the ‘taxes
to 1000. Compute by how much amount do the
following change :
consum;;:tion, investment and national savings due

to fall in the tax. 4

(aI)GDP,GNP@%‘éﬁH%??IﬁéWHEHﬁ%?ﬁ
FHaRE @ AR @ & o PEE TfE en

F GYET & : GDP AT GNP ?

(@) sifea whifn F1 GEfE @@ F@ g2

(a)\ma’{zfarawésﬁwzﬂwﬁ@f%w?
= wifv Frefafad g adorEe #

disposable income,

8929

Y=C+G+]

Y = 6000

G = 2000

T = 2000
C=500+05(Y-T)

I = 2000 - 50r

0 WE =S w3 v W o

Hifg |

(i) ¥ WA e fF WeER = F e

1000 et T R e —
T s, Sedn, faw w o am
B H B F w7 B SewE S ?

3,500
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